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Seconp Mip TERM TEST. 2023

13-t o PHYSICS |
Time : 1.30 Hrs - : Marks.: 35
SECTION-A :
Choose the correct answer and write it: © - 10x1=10
1)  If the acceleration due to gravity becomes 4 times-its original value then escape
speed
a) remains same b) 2 times ofongmal value c) becomes halved d) becomes 4 times
2) Theyoung's modulus of a perfect rigid body :
a)0 b) 1 ‘ 6] 05, d) infinity
3) Aliquid does not wet the solid surface’if the angle of contact is
a)zero . ' b)equalto45° . c)equal to 90° d) greater than 90°
4)  When a cycle tyre suddenly bursts, the air inside the tyre expands. This process is
. a) isothermal * b) adiabatic - ¢) isabaric d) isochoric
5) The efficiency of a heat engine WOrking between the freezing point and boiling point of
» water is @) 6:25%: ... :b) 20%: , c)26.8%  d)12.5%
6.  Viscosity of iiqu1d and gas respectively as temperature rises .
a)-Increases and lncreases b) increases and decreases
c) Decrease and increase = d) Decrease and decrease !
7.  According to Charles law obe5|ty and Graph far temperature
a) An ellipse - -b) A circle c) A straight line- : d)A-parabola A
8. Food is cooked inside the covered pan. After a while the steam pushes the lid of the
pan slightly. Considering steam-as a thermodynamic system, which statement is
appropriate for this phenomenon?
‘a)Q>0 W>0  b)Q<Do, W > 0 <) Q >0, W<0 d)Q<O W<0
- 9. Which part of the earth has no gravity? )
’ a) North and South Pole b) Equator ¢) On'the surface 'd) Center of the earth
10. The mass of Earth is g & | 7
‘ a) 6 x102 kg b) 6 x 102 kg c) 6x 10 kg,  d) 6 x10* kg -
' SECTION-B ¢ '
_ Answer any three questlon compulsorlly answer questlon number 15:
11. Define Poisson's ratio.. . ~* . - : ey 3X2=6
4. 'Why the energy of the. satelhte negative? ' e
13, Let2.4x107%] of work is done to increase the area of a film of soap bubble from 50
cm? to 100 cm Calculate the value of surface ten5|on of soap solution.
14. State Boyle's Jaw. : \
15. Calculate the energy of (i) Moon orbltlng Earth (u) Earth orbrtmg Sun
‘ N v SECTION C '
' Answer any three question compulsorily answer question number 20' 3x3=9
16. Lunar eclipse and solar eclipse do nat happen every month. Why?
17. What is Reynolds number? What is its significance?
18. What factors affect the surface tension of a liquid?
19. State the Stefan - Boltzmann rule
20.- A solid sphere has a radius of 1.5 cm and ‘a mass of 0.038 kg Calculate the relative
mass of the SOlld planet
SECTION D g
: Answer allthe questions: , " 2x%5=10
21) a) Derive the expression for Escape’ speed (OR) ' g
- b) State and explain Bernoulli's theorem, '
22) a) Explain Mayer's relation. (OR) b) Explam in detail Newton' s law of cooling
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